2013 3E== (P)

JIE 452 EF4A REATEVUE) Kig RA b
1|1E&F HE T KI) S=FaTEVIRITUE 236.00
2|5 A IEF Y rMT—FJL 199.36
|RE M- F |55 M T—FKJL 187.45
4[4 1L BAF IR% INETY 187.18
5|{EE LD S KACHU (BF2) S=FaTEVIRITUE 170.14
6;E=F HLY FXN\)TFETFo—)LRRANR=TIL| 16945
7|HA R4 JJzAMPzA) F29 143.82
8|lriE HHE X#0 SZFaTEVIRITUL 119.09
9/MR E 7L M T—FJL 118.00

10{5h L #LF Zh SZFaTEVIRITUL 107.18
1108 EE AT M T—FJL 96.73
12|35k BAE <—)L SZFaTEVIRITUL 95.64
13[;)kB X8 F DEW) S=FaTEVIRITUE 91.41
14[RE F&F % )l aa—F—h—T1H> 83.55
15|51 X FEY S=FaTFE L v— 68.55
16[#a K A% DaT4 D)l aa—F—AxXJO0—4 59.45
17[FH E£2 <3 cMT—K)L 57.64
18|IUA mEB KOs — YISy tILTIT 55.64
19[/NE AR E > a1— rMT—FJL 54.45
20| KRk T & SZFaTEVIRITUL 54.18
21/h#k F5F ) S=FaT - BYIRIVETA Y — 53.45
22155 LD A YuzU (aX) SZFaTEVIRITUL 53.32
23|15 £ INT— rMT—FJL 52.32
24|78 EF0 AKX NG 4355
25|IU4E EE¥F WHZ M T—FKJL 41.91
26|08k BE HhHi M T—FJL 40.36
271k EF 19 S=FaTEVIRITUE 39.64
28| =18 1EF EX SZFaTEVIRITUE 39.09
29|EXR 5F £5 F 37.45
30| K#E =& AKX SZFaTEVIRITUE 36.64
31|E% FEF E4=] SZFaTEVIRITULE 36.55
32|/ME =R ) D) a-a—F—-RJO—% 34.91
BFE #bK INE HI)liaa—Fx—ARJ0—4 3418
4|JEN X8 T45 SZFaTEVIRITUL 31.09
35|84 E #BF BA NG 29.50
36|BAR =F 2)— S=FaFE S v— 29.09
37| BRE Rk (53%) DIAMNASUREKRIATYT 26.18
38|HF £&F EXSES M T—FJL 25.45
39| KAR IBF DUXE rMT—FJL 24.73
40| B K &£+ <4l S=FaTEVIRITUL 23.18
M|F PT & YK Y/l ad—F—~_LTJ0O0—4H 2255
2= EE & (52) SZFaTEVIRITUL 20.36
43|57 B Bu XK ) aa—F—RJO—% 20.00
U|EHE HhEY >+ FrN\JT 19.86
45|i#K BF VEDY YISy tILTIT 19.82
46| 1& HEE rMO— S=FaFiatoy— 18.91
47|dn E A T+ v -SytIL-TUYT 18.23
48| H f1E EF IN=EP 18.14
49| E K BT INRA M T—FJL 17.68
50|/M#k BHFS aEY rMT—FJL 16.36
51|3R& #TF 91)2 YISy tILTIT 15.82
52|FAK =+ E20) Yl ad—F—~_LJ0—4 15.14
53|H B HHEH LAA F2 14.05
54| 5 H EX {BH SZFaTEVIRITUL 13.09
55|i%sK BA 13 SZFaTEVIRITUL 13.09
56|#HA EEF 5—(155) Hr)laa—F—RJO—% 12.23
57|Ea35 5h ] TA— D)l aa—F—ARJO0—4 11.86
58| = H BE-BF |54 )l aa—F—h—T1H> 10.23




2013 3E== (P)

JIE 452 EF4A REATEVUE) Kig RA b
50(#kK B F TxyE— JAF—A~NF—RI=Fa 7R VIRTU 10.18
59| iifi ] B F EUNF) YISy tILTIT 10.18
61|FF BRF Hh4Ak KM T—KJL 9.27
61| K iE JyF rMT—FJL 9.27
63| ALK A H {5EPA F292 8.18
64| K57 MEEF =<5 D)l aa—F—AxXJO0—4 8.05
65| = % E=F JJL D)l aa—F—AxXJO0—4 6.82
66[1EA HF LT« Yzl aa—F—XJO—¥ 4.36
67| BRI FF <L M T—FJL 4.09




